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4.

5.

6.

The moving-coil microphone uses the same
principle of operation as the:

a. transistor.

b. piezo-electric effect.

c. loudspeaker.

d. variable resistor.

An amateur transmission can be heard on an
audio system. This is as a result of:

a. parasitic oscillation.

b. excessive power.

c. ghosting.

d. rectification in the audio circuit.

In an SSBSC amateur transmission the signal
consists of:

a. two sidebands plus carrier.

b. one sideband plus carrier.

c. two sidebands, reduced carrier.

d. one sideband, reduced carrier.

Which of the following tends to control thermal
runaway in a transistor amplifier?

a. Decoupling the power supply.

b. NPN transistors.

c. Combination bias.

d. A fuse in the power supply circuit.

To pass SSB through a push-pull final power
amplifier, without intermodulation distortion, the
amplifier must be biased:

a. class A/B.
b. class C.
c. class D.
d. notat all.

The earth wire in a three-core 240 volt mains
lead would be:

a. black.
b. brown.
c. blue.

d. green/yellow .

The resonant frequency of a whip antenna can be
raised by:

a. decreasing the feedline impedance.

b. increasing the feedline impedance.

c. shortening the antenna.

d. lengthening the antenna.

10.

11.

12.

13.

14.

The type of feedback that is required to
neutralise an RF power amplifier is:

a. negative.

b. neutralising

c. harmonic.

d. positive.

Between two points on a-circuit the potential
difference would be measured in:

a. amperes.
b. volts.

c. ohms.

d. coulombs.

A microphone that would be fed directly into the
gate of a FET audio amplifier and best match
impedance would be a:

a. carbon microphone.

b. crystal microphone.

c. dynamic microphone.

d. rocking armature microphone.

What type of detector could be used in a
superheterodyne SSB receiver?

a. Envelope detector.

b. Ratio detector.

c. Discriminator.

d. Product detector.

Your final PA in your AM transmitter is
oscillating at a very high frequency. To
overcome this problem you would:

neutralise the final.

add a parasitic suppressor.

switch off the speech processor.

convert the rig to SSB.

aoos

Two resistors in parallel are connected in series
with another two resistors in parallel. If all
resistors have a value of one ohm, what is the
total resistance of this network?

a. 1 ohm.
b. 2 ohms.
c. 4 ohms.
d. 8ohms.

The polarisation of an amateur transmission
leaving an antenna is dependent upon:

a. the mode of transmission.

b. the direction of the magnetic lines of force.
c. the maximum usable frequency.

d. the direction of the electric lines of force.
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A dummy load is used when testing an RF
amplifier to:

a. provide a load to the power supply.

b. convert AM to SSB.

c. prevent RF radiation when testing.

d. suppress over-modulation.

What is the principle of operation of an inductor
which gives rise to inductance?

a. Self-induction.

b. Mutual induction.

c. Inductive reactance.

d. Ohms law.

Which of the following would not be found as a
grid in a pentode valve?

a. Control.

b. Suppressor.

c. Cathode.

d. Screen.

Which of the following is not a diode?
a. Zener.

b. Varicap.

c. Varactor.

d. MOSFET.

The symbols used to designate the various
elements of a transistor always include an
arrowhead. The arrow is placed on the:

a. emitter.

b. base.

c. collector.

d. shield.

What is the purpose of using electrolytic

capacitors in AC/DC power supplies?

a. To prevent radio frequencies entering the
power mains.

b. To improve the high-frequency response of
audio amplifiers.

c. To smooth out the ripple
superimposed on the direct current.

d. To bypass the direct current to earth.

frequency

Which class of amplifier operation requires two
transistors in push-pull for good reproduction of
speech signals?
a. First class.

b. Class A.
c. Class B.
d. Class C.

22.

23.

24.

25.

26.

27.

28.

The ability of a receiver to distinguish between
signals close in frequency is called its:

a. bandspread.

b. sensitivity.

c. stability.

d. selectivity.

The DC voltage range of a moving-coil meter
may be increased by adding:

a. aresistor in parallel with the meter.

b. aresistor in series with the meter.

c. adiode in parallel with the meter.

d. a capacitor in series with the meter.

Which of the following instruments would be
suitable for checking the resonant frequency of
an LC circuit?

SWR meter.

Transistor tester.

Moving-coil meter.

Dip meter.

i

The impedance of a radio frequency feeder line

must match the antenna and the transmitter

output in order to:

a. reduce standing waves on the antenna
system..

b. reduce the use of open-wire feeder.

c. keep the transmission line as short as
possible.

d. maintain frequency stability.

The electrical earth in a radio installation is to:

a. produce improved ground waves and stop
overmodulation.

b. allow the connection of more than one piece
of apparatus to the mains

c. provide a low impedance path for fault
current and reduce the likelihood of electric
shock

d. reduce the power used and have only one
wire from the street to your building.

A stator may be found in a:
a. variable capacitor.

b. Yagi antenna.

c. NPN transistor.

d. field effect transistor.

Atmospheric noise is generally more pronounced
in the 3.5-3.7 MHz amateur band during the:

a. summer.
b. autumn.
c. winter.
d. spring.
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A signal output is increased by 30 dB. What is
the numerical power of the gain experienced?
a. 10.

b. 100.

c. 1000.

d. 10 000.

When a junction diode is reverse biased:
a. the depletion layer decreases.

b. leakage current will flow.

c. forward current will flow.

d. no current will flow.

The feedpoint impedance of a centre-fed dipole
is approximately:

a. 10 ohms.
b. 300 ohms.
c. 75 ohms.
d. 150 ohms.

The opposition to an AC in a reactive circuit is
termed:

a. inductance.

b. capacitance.

c. impedance.

d. resistance.

Parallel tuned traps are sometimes placed in the

radiating section of a Yagi antenna to enable it

to:

a. operate on
frequencies.

b. prevent interference to television receivers.

c. improve the front-to-back ratio.

d. improve its directive properties.

more than one band of

A capacitor has reduced capacitance when:

a. the distance between the plates is decreased.

b. the area of the plates is increased.

c. the dielectric constant of the material
separating the plates is increased.

d. the distance between the plates is increased.

A transformer designed to provide a secondary
voltage of 120 volts AC when the primary
winding is connected to a 240 volt AC supply,
would have a turns ratio of:

a. lL:l.

b. 41
< BY
d. 151

36.

37.

38.

39.

40.

41.

Which of the following could be used in a circuit
to protect against current overload?

a. Fuse.

b. Bipolar transistor.

c. Lamps.

d. Capacitors.

Propagation of HF radio waves between

Australia and Europe is possible due to the
presence of the:

a. atmosphere.
b. troposphere.
c. ionosphere.

d. stratosphere.

Which property of a quartz crystal gives its
ability to oscillate?

a. The piezo-electric effect.

b. The inductive effect.

c. The voltage regulating effect.

d. The stability of quartz.

Two 1.5 volt dry cells are connected in series to
a circuit. The result will be:

a. doubled current capability.

b. doubled available voltage.

c. reduced resistance.

d. reduced circuit current.

In an FM receiver the detector circuit would be
termed:

a. analogue detector.

b. product detector.

c. discriminator.

d. beat frequency oscillator.

What is the purpose of automatic gain control in

receivers?

a. To allow weak signals to be received.

b. To enable a receiver to receive incoming
signals at the same volume independent of
signal strength.

c. To allow the gain of the receiver to be
reduced when propagation conditions are
poor.

d. To stop selective fading.
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What type of filter is likely to be found in the
output of the final power amplifier in an amateur
transmitter?

a. Band spread.

b. Band stop.
c. Low pass.
d. High pass.

A zener diode used as a voltage regulator will
always be:

a. forward biased.

b. reverse biased.

c. not biased.

d. cut off.

A CW transmitter is likely to cause interference
to other services when its output signal is

a. reverse biased.

b. incorrectly shaped, i.e. squared.

c. operating class C.

d. 100% modulated.

A mains filter may be used in series with the 240
volt power lead of an amateur transmitter. The
bypass capacitors are connected:

a. in series with the supply

b. in series with the active.

c. in parallel with the supply.

d. in parallel with the neutral.

Which of the following modes of transmission
has the narrowest bandwidth?

a. FM.

b. Double sideband suppressed carrier AM.

c. AM.

d. SSB.

The most outstanding difference between a

primary and a secondary cell is:

a. secondary cells are wet, primary are dry.

b. primary cells do not suffer from local action.

c. secondary cells can be recharged, primary
cannot.

d. primary cells can be recharged, secondary
cannot.

When is intermodulation distortion likely to
occur?

a. In anon-linear SSB RF amplifier.

b. In an undermodulated SSB transmitter.

c. Ina100% modulated AM transmitter.

d. Only in FM transmitters.
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TVI on a TV set, when you are transmitting on
all bands. One way of overcoming this problem
is to:

50.

a.

b.
C:
d

install sound bars on the TV.

install a wave trap on the TV.

install a low-pass filter on the transmitter.
install a high-pass filter on the TV.

The front-to-back ratio of a beam antenna
indicates its ability to:

a.

b.
c.
d.

reject signals at the side.
receive weak signals.

reject signals from the front.
reject signals from the rear.
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